= Y&
FRFTEAFPHEARTF T B

- R +

2

AR AR
22 B3

6,000 =~/ p

6, 000

By fo % R P B 4 R A K wH
) F v T X ﬁ’/?&#&‘#%‘ﬁ}ﬁ};u
6,000 =~ /= | ~ 6,000 ~ Bt f
A% 6 R 232
12,000 =~ /P £ 12,000 =~
b T N N Y
4,000 =% | < o7 | 4,000 % /O
A g Rz 105 +
8,000 = /B E 8,000 =
I T X T E L A&
3,000 ~ 7= g 3,000 ~ b AR R Y
EUR 45 ~ T ARG ME AR
A B~ B e

- B EIETRBMGE) 0 3 A B

SR ARL BT A AR R ES B ER S T R A
SoBERRPER LG 10T P S BITEI @ PN ARG ENEE RSN AN

qrp__t,rg,&o

T NBEBTREE RALED L (A EILo) 2T (=

517 )& - fAH o

CH RGRM T o e B LA BMERL SR

1. ® B = ,Jpé,:é _ E&ﬁ;: S = ’J‘H“’:UE_ ] H“’:;‘Lf—r .

2.4z = /J~E?»=—f§ i * PERARIE - ) P Voo F e R R o

.Ep@ygrR T T2 B HFEFR (TELC

ST - pE) vE@ Y > A ¥

A EFEENERLRE  GLFRHN AP AR S R BHEFT o g L3R
S FBRYFEEREELZHI )Y G AR FRMATE BT T AT

21 2

B

P

o




